IT 101 section 001
HW # 2
Due at 1:30 on September 18
1.   Convert the following BCD representation into its equivalent decimal form:

      1000/0111/0011/0111    

       a. 1 28 24 28

       b. 8 7 3 7

       c. 7 3 7 8

       d. 28 24 28 1
2. Octal representation of a number is 12(8).  The equivalent decimal representation is
a. 12

b. 86

c. 10

d. 128

3. Represent 21(10) in Hexadecimal.
       a. F6
       b. 2A

       c. A1

       d. 15
4. An even decimal number, when converted to binary, will always end in 
        a. 1

        b. 0

        c. Either 1 or 0

5.  Using the redundancy coding presented in the lecture, add the appropriate even parity bits and compute the check word using odd parity (don't forget that the check word parity bit is even!)

10
11
00
01
10
11
Transmitted binary string: 

                  a. 101
110 
000 
011
 101
 110
 101

                  b. 101        111      001      011       101       110     100
6. Based on the same redundancy coding scheme used in lecture, detect and correct any errors present in the following (the last bit "word" is the check word):

0 1 1
1 1 0
1 1 0
1 1 1
0 0 0
          a. First word second symbol should be zero

          b. Fourth word second symbol should be zero

          c. Fourth word first symbol should be zero

7. How many bits are in 10 MB?

         a. 83,886,080 bits
         b 80,000,000  bits
         c. 8,366.005 bits

         d. 10.000,000 bits
8. Give ASCII binary string for GMU.

         a. 110011110001110101010
         b. 100011110011011010101 

         c. 100001001111000011011 

9.  How many bits per second are transmitted with a 3.3Kbps Transmitter?
         a. 1,000 bits per second

         b. 3,300 bits per second

         c. 33,000 bits per second

10. How many bits are necessary for a unique representation of everybody in IT 101-section 1 class of 75 students?
      a. 7 
      b. 75    
      c. 8
      d. 10
